ASSEMBLY INSTRUCTIONS FOR TWIN MAKO BED

Read #his insiruciion carefully’Séé haedwore and kenffure past list for guidanca.Be sure i port is complele, before you assemble,
Piace ol wooden furmdure part on o clean and Bat soft surface o prevent from being scraiched, Foliow the figure to start assembiing.

CAUTIONS:

1.Do not FULLY-TIGHTEN the nuf or nut bollt until all nut or bolt is ready assembed.
2.Do not OVER-TIGHTEN the nut or nut bolt o avoid causing damages fo the thread.

3.Keep ail hardwore part out of reach of children.

HARDWARE LIST

HARDWARE UST TEM. DESCRIFTION. Qry.
ITER DESCRIPTION. QY. 6 | WOOD DOWEL M10 x 30 [s==] 4PCS
1| BARRER NUT M6 x 15 o) 16PCS| | 7 | WOOD DOWEL M8 x 20 = o
2| JCBC SCREW M6 x 90 eammf) | 8PS| | 8 | CSKSCREW M4 X25MM ) 24PCS
3| JCBC SCREW M6 x 70 8pcs | [ 9 [maLker | e
4 | JCBC SCREW M6 x 25 .. % 8PCS 10 | WOOD BUTTON 13.5 X 7.5mm ) 16PCS
5 | JCNNUTM6x 12 C—$® | 8pcs | | 11 | WOOD DOWEL M8 x 30 == 16PCS

STEP STEP 2:

g <
(: Ei * Put rail marking with holes
facing down when assemble

i
@
o E

* Put rail marking with holes
facing down when assembie




